Worksheet
3,/4/2020

Name:

1. Let V ={u:[0,1] = R, w is continuous} be an inner product space with the inner product

(u, v) = jglu(x)v(x)dm.

Find an orthonormal basis of P(R).

See LQ cfme 14













































2. Find the orthogonal projection of u(x) = cosx on the space Pa(R).

See LQCJM‘@ 14 (Q,ho{ 'ttm {ml‘cr
FMFJ" ox) Le,c\‘iur(; 13).













































































































































